



                             Obliczenia sieci kanalizacji deszczowej



                        Dla t = 15 min.,  p = 50%,  c = 2,  q = 96,0 l/sek. ha

	L.p.
	Zlewnia rzeczywista F (ha)

– powierzchnie cząstkowe
	Zlewnia zredukowana Fzr = ( x F (ha)
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	Nr
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	ha
	ha
	ha
	ha
	ha
	ha
	
	
	
	
	
	
	

	1
	2
	3
	4
	5
	6
	7
	8


	9


	10
	11
	12
	13
	14
	15

	1
	W1,W3
	D3
	0,67
	0,09
	0,76
	0,23
	0,04
	0,27
	96,0
	25,92
	6,63
	0,20
	14,0
	1,0

	2
	W2,W4
	D3
	0,76
	0,09
	0,85
	0,27
	0,04
	0,31
	96,0
	29,76
	7,87
	0,20
	14,0
	1,1

	3
	D3
	D2
	1,59
	0,33
	1,92
	0,56
	0,16
	0,72
	96,0
	69,12
	1,14
	0,30
	16,0
	1,8

	4
	D2
	D1
	1,68
	0,58
	2,26
	0,84
	0,29
	1,13
	94,08
	106,31
	1,14
	0,30
	22,0
	1,5


